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vier Briiche, Reihenfolge der Operationen
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Name: Datum: Ergebnis:
l+l—§xl: §—20x§+4:
2 5 4 4 4 4
2 2 3
NVx —+9— = ——27x —+9=
5 5 “3
2 2 1 1 3 1
0% 371073 1727572
3+3+3x1_ 35><3;5+1—
2 4 5 2 5 7 5
14xl+7+1: §+g+§xl:
5 2 2 3 2 6
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vier Briiche, Reihenfolge der Operationen
@ (] e | ° ¢

Name: Datum: Ergebnis:
11 3 1 41 3 3

L Vs 2 0x2 4= (-

275 174 %0 3 073 =3)

2 2 18 3 3 3 3 13
Nx 33973575 733 5 27X 79= (5 = Clyg)
2 2 11 3 1 21 1
0x ==10— == —Ft =Xt —=—=]1—
0x3710=3=0 427572720 20
273457270 0 5° 5 '3
14xl+7+1:_9_ §+%+§xl:_2_9_:2_5_

5 210 2737276 12 12
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